

# AN INDUCTIVE PROOF OF A RESULT ABOUT BULGARIAN SOLITAIRE

ROMEO MEŠTROVIĆ

Department of Mathematics, Maritime Faculty,  
University of Montenegro,  
Dobrota 36, 85330 Kotor, Montenegro

*E-mail address:* romeo@cg.ac.yu

## Abstract

Let  $N$  be a positive integer and let  $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_l)$  be a partition of  $N$  of length  $l$ , i.e.,  $\sum_{i=1}^l \lambda_i = N$  with parts  $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_l \geq 1$ . Define  $T(\lambda)$  as the partition of  $n$  with parts  $l, \lambda_1 - 1, \lambda_2 - 1, \dots, \lambda_l - 1$ , ignoring any zeros that might occur. Starting with a partition  $\lambda$  of  $N$ , we describe Bulgarian Solitaire by repeatedly applying the shift operation  $T$  to obtain the sequence of partitions

$$\lambda, T(\lambda), T^2(\lambda), \dots$$

We say a partition  $\mu$  of  $N$  is  $T$ -cyclic if  $T^i(\mu) = \mu$  for some  $i \geq 1$ . Brandt [2] characterized all  $T$ -cyclic partitions for Bulgarian Solitaire. In this paper we give an inductive proof of Brandt's result.

## 1. INTRODUCTION AND STATEMENT OF RESULTS

The following game, popularized by Gardner in 1983 [4], is called *Bulgarian Solitaire*.

Initially, we are given  $N$  cards disposed in several piles. A move consists of removing exactly one card from each pile and forming a new pile. The operation is repeated over and over.

If the number of cards  $N$  is a triangular number, i.e.,  $N = 1 + 2 + \dots + k$  for some  $k$ , a remarkable fact is that, starting from any initial configuration, after a finite number of moves the Bulgarian Solitaire will reach the stable configuration formed by piles of sizes  $1, 2, \dots, k$ . This result was proved by J. Brandt ([2], the assertion after the proof of Theorem 4, p. 484). It was also considered in [2] the case when the number of cards is not triangular.

---

2000 *Mathematics Subject Classification*. Primary 05A17.

*Key words and phrases*. Bulgarian Solitaire, cycle of partitions, shift operation, triangular number.

Since a deck has only finitely many layouts, the game of Bulgarian Solitaire must cycle. Brandt characterizes and counts all cycles for any given deck size ([2], Theorem 5).

Let us now define the game formally. Let  $N$  be a positive integer and let  $\lambda$  be a partition of  $N$  having  $l$  parts written  $(\lambda_1, \lambda_2, \dots, \lambda_l)$  in non-increasing order; that is,  $N = \lambda_1 + \lambda_2 + \dots + \lambda_l$  with positive integers  $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_l \geq 1$ . Define  $T(\lambda)$  as the partition of  $n$  with parts  $l, \lambda_1 - 1, \lambda_2 - 1, \dots, \lambda_l - 1$ , ignoring any zeros that might occur. So  $T^i(\lambda)$  ( $i = 1, 2, \dots$ ) denotes the partition obtained by successively applying the shift operation  $T$  to  $\lambda$  a total of  $i$  times. Starting with a partition  $\lambda$ , we describe Bulgarian Solitaire by repeatedly applying the shift operation to obtain the sequence of partitions

$$\lambda, T(\lambda), T^2(\lambda), \dots$$

We say a partition  $\mu$  of  $N$  is  $T$ -cyclic if  $T^i(\mu) = \mu$  for some  $i \geq 1$ .

If  $N$  is arbitrary, Brandt noted that repeated application of  $T$  leads into a cycle of partitions, since there are only a finite number of these. Furthermore, a cycle of partitions is completely determined by the sequence of the consecutive lengths of the partitions in the cycle. Motivated by this fact, Brandt ([2], p. 483) defined the set  $M_n$  by

$$(1) \quad M_n = \{ \sigma = (\sigma_i)_{i \in \mathbf{Z}} : \max \sigma_i = n, \text{ where for all } i, \sigma_i = |\{ \sigma_j | j < i, \sigma_j \geq i - j \}| \},$$

where  $|S|$  denotes the cardinality of a set  $S$ . If  $\sigma \in M_n$ , then by Proposition 2 in [2],  $\sigma_i \in \{n, n-1\}$  for all  $i \in \mathbf{Z}$ . As an easy consequence of this fact, Brandt (cf. proof of Theorem 5 in [2]; also see Akin and Davis [1], Theorems 4 and 5, Griggs and Ho [5], Theorem 2.1 and Etienne [3]), characterized all  $T$ -cyclic partitions for arbitrary  $N$ . This result is given as follows.

**Theorem.** *Let  $N = 1 + 2 + \dots + k + r$ ,  $0 \leq r \leq k$ . Then a partition  $\lambda$  of  $N$  is  $T$ -cyclic if and only if  $\lambda$  has the form*

$$(k + \delta_k, k - 1 + \delta_{k-1}, \dots, 1 + \delta_1, \delta_0),$$

where each  $\delta_i$  is 0 or 1 and  $\sum_{i=0}^k \delta_i = r$ .

In particular (see the assertion after the proof of Theorem 4 in [2]), for a triangular number  $N$  we obtain the following result quoted by Gardner in [4]—Brandt's Equilibrium Theorem.

**Corollary.** *If  $N = 1 + 2 + \dots + k$ , then  $(k, k - 1, \dots, 1)$  is the unique  $T$ -cyclic partition of  $N$ .*

Recall that the above theorem follows from Theorem 4 of Akin and Davis [1] whose proof is based on Brandt's result. Theorem 5 in [1] which

is proved directly, also gives a description of all  $T$ -cyclic partitions for arbitrary  $N$  as in above theorem. The above corollary is proved by Etienne [3] by introducing a natural array representation of a partition  $\lambda$ . The idea in his proof is applied in the proof of Theorem 2.1 in [5] (the above theorem) to general  $N$ .

In this paper we give an inductive proof of the above theorem. For the proof we define a sequence which is analogous to the set  $M_n$  given by (1).

## 2. PROOF OF THE THEOREM

Let  $N$  be a positive integer and let  $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_l)$  be a partition of  $N$  having  $l$  parts with  $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_l \geq 1$ . Bulgarian Solitaire is based on a function  $T$  defined on the partition  $\lambda$  as above:

$$T(\lambda) = (l, \lambda_1 - 1, \lambda_2 - 1, \dots, \lambda_l - 1),$$

where all zeros are omitted and the parts may need to be reordered to be non-increasing. For a partition  $\lambda$ , we associate a sequence

$$\text{seq}_T(\lambda) = \langle \sigma_1, \sigma_2, \dots, \sigma_n, \dots \rangle,$$

where  $\sigma_n$  is the number of parts in  $T^{n-1}(\lambda)$  ( $T^0(\lambda) = \lambda$ ,  $n = 1, 2, \dots$ ). Then applying the shift operation  $T$  to  $\lambda$   $n$  times, we obtain

$$T^n(\lambda) = (\lambda_1 - n, \lambda_2 - n, \dots, \lambda_l - n, \sigma_n, \sigma_{n-1} - 1, \dots, \sigma_{n-i} - i, \dots, \sigma_1 - (n-1)),$$

where all negative integers and zeros are omitted.

Note that, if  $n \geq N$  then  $\lambda_i - n \leq N - n \leq 0$ , and hence

$$(2) \quad T^n(\lambda) = (\sigma_n, \sigma_{n-1} - 1, \dots, \sigma_{n-i} - i, \dots, \sigma_1 - (n-1)) \text{ for all } n \geq N,$$

where all negative integers and zeros are omitted.

**Proposition.** *Let  $\text{seq}_T(\lambda) = \langle \sigma_1, \sigma_2, \dots, \sigma_n, \dots \rangle$  be a sequence associated to the partition  $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_l)$  of a positive integer  $N$ . Then for all  $s \in \mathbb{N}$  there exists sufficiently large  $q \in \mathbb{N}$  with  $q > s$  such that*

$$(3) \quad \sigma_{m-j} + 1 \geq \sigma_m \text{ for all } m \geq q \text{ and for all } j \leq s.$$

*Proof.* Let  $N = \lambda_1 + \lambda_2 + \dots + \lambda_l$  with  $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_l \geq 1$ . We proceed by induction on  $s$ . It follows from the definition of the shift operation  $T$  that  $\sigma_m \leq \sigma_{m-1} + 1$  for all  $m \geq 2$ , and hence (3) is satisfied for  $s = 1$  assuming  $q = 2$ .

Now suppose that for a fixed  $s \in \mathbb{N}$  there exists  $q \in \mathbb{N}$  such that (3) holds. If we put  $t = q + N$ , then  $\lambda_i - t \leq N - t < 0$  for all  $i = 1, 2, \dots, l$ , and hence (2) yields

$$(4) \quad T^n(\lambda) = (\sigma_n, \sigma_{n-1} - 1, \dots, \sigma_1 - (n-1)) \text{ for all } n \geq t,$$

where all negative integers and zeros are omitted. It follows immediately from (4) that

$$(5) \quad \begin{aligned} \sigma_{m+1} &= |\{i : 1 \leq i \leq m \text{ and } \sigma_i - (m - i) \geq 1\}| \\ &= |\{i : 1 \leq i \leq m \text{ and } \sigma_i + i \geq m + 1\}| \text{ for all } m \geq t. \end{aligned}$$

Furthermore, if for a fixed  $m \geq t$ ,  $\sigma_i + i \geq m + 1$  holds for some  $i$ , then  $i \geq m + 1 - \sigma_i \geq t + 1 - N = q + 1$ . Now from this fact and (5) we have

$$(6) \quad \sigma_{m+1} = |\{i : q + 1 \leq i \leq m \text{ and } \sigma_i + i \geq m + 1\}| \text{ for all } m \geq t.$$

By the inductive hypothesis, (3) with  $j = s$  implies that

$$(7) \quad \sigma_{i-s} + 1 \geq \sigma_i \text{ for all } i \geq q + 1.$$

Therefore, if for a fixed  $i \geq q + 1$ , there holds  $\sigma_i + i \geq m + 1$ , (7) implies

$$\sigma_{i-s} + i + 1 \geq \sigma_i + i \geq m + 1,$$

whence we conclude that

$$(8) \quad \sigma_{i-s} + (i - s) \geq m - s \text{ whenever } i \geq q + 1 \text{ such that } \sigma_i + i \geq m + 1.$$

Finally, if  $m \geq t$ , then  $m - s > t - q = N$ , and so by (2) we have

$$\begin{aligned} \sigma_{m-s} &= |\{i - s : 1 \leq i - s \leq m - s - 1 \text{ and } \sigma_{i-s} + i - s \geq m - s\}| \\ &= |\{i : 1 + s \leq i \leq m - 1 \text{ and } \sigma_{i-s} + i - s \geq m - s\}| \\ &\geq |\{i : q + 1 \leq i \leq m \text{ and } \sigma_{i-s} + i - s \geq m - s\}| - 1 \\ &\quad (\text{because of } q > s) \\ &\geq |\{i : q + 1 \leq i \leq m \text{ and } \sigma_i + i \geq m + 1\}| - 1 \text{ (because of (8))} \\ &= \sigma_{m+1} - 1 \text{ (because of (6)).} \end{aligned}$$

Therefore,  $\sigma_{m-s} + 1 \geq \sigma_{m+1}$  for all  $m \geq t$ , or equivalently,  $\sigma_{m-(s+1)} + 1 \geq \sigma_m$  for all  $m \geq t + 1$ . The last inequality and the inductive hypothesis given by (3) imply

$$\sigma_{m-j} + 1 \geq \sigma_m \text{ for all } m \geq t + 1 \text{ and for all } j \leq s + 1.$$

This concludes the proof. ■

**Corollary** (cf. [2], Lemma 1). *Let  $N = 1 + 2 + \dots + k + r$ ,  $0 \leq r \leq k$ , with the same assumptions as in the above Proposition. Then there exists  $t \in \mathbb{N}$  such that  $\sigma_n \in \{k, k + 1\}$  for all  $n > t$ .*

*Proof of the above Corollary and the Theorem.* It is easy to see that a sequence  $\text{seq}_T(\lambda) = \langle \sigma_1, \sigma_2, \dots, \sigma_n, \dots \rangle$  is periodic, that is, there exist  $p, v \in \mathbb{N}$  such that  $\sigma_{n+p} = \sigma_n$  for all  $n > v$ .

By Proposition, there exists sufficiently large  $q \in \mathbb{N}$  with  $q > p$  such that

$$(9) \quad \sigma_{m-j} + 1 \geq \sigma_m \text{ for all } m \geq q \text{ and for all } j \leq p.$$

Put  $t = \max\{v, q\}$ . Then  $\langle \sigma_{t+1}, \sigma_{t+2}, \dots, \sigma_{t+p} \rangle$  is a period of  $\text{seq}_T$ . Assume  $i$  and  $n$  such that  $t+1 \leq i < n \leq t+p$ . Then since  $n > q$  and  $1 \leq n-i \leq p-1$ , by (9) we get  $\sigma_n \leq \sigma_{n-(n-i)} + 1 = \sigma_i + 1$  and  $\sigma_i = \sigma_{i+p} \leq \sigma_{i+p-(p-(n-i))} + 1 = \sigma_n + 1$ . Hence,  $|\sigma_i - \sigma_n| \leq 1$  and thus,  $\sigma_n \in \{u, u+1\}$  for some fixed  $u \in \mathbb{N}$  and all  $n \geq t+1$ . It remains to show that  $u = k$ . If we choose  $m \in \mathbb{N}$  such that  $mp \geq N$ , then since  $\sigma_n \leq u+1$  for  $t+1 \leq n \leq mp+t-1$ , for such a  $n$  we have

$$(10) \quad \sigma_n - ((mp+t+u) - n) \leq n+1 - mp - t \leq 0.$$

On the other hand, if  $1 \leq n \leq t$ , then since  $\sigma_i \leq N \leq mp$ , we obtain

$$(11) \quad \begin{aligned} \sigma_n - ((mp+t+u) - n) &\leq N - mp - t - u + n \\ &\leq mp - mp - t - u + t = -u < 0. \end{aligned}$$

In view of (10) and (11), by (4) we get

$$(12) \quad \begin{aligned} T^{mp+t+u}(\lambda) &= (\sigma_{mp+t+u}, \sigma_{mp+t+u-1} - 1, \dots, \\ &\sigma_{mp+t+1} - (u-1), \sigma_{mp+t} - u). \end{aligned}$$

Since  $\sigma_{mp+t+u-i} = u + \delta_{u-i}$  with  $\delta_{u-i} \in \{0, 1\}$  for all  $i = 0, 1, \dots, u$ , it follows from (12) that the sum of all parts of the partition  $T^{mp+t+u}(\lambda)$  is equal to

$$u + (u-1) + \dots + 1 + \sum_{i=0}^u \delta_{u-i}.$$

It is easily see that the above sum is equal to  $N = 1 + 2 + \dots + k + r$  if and only if  $u = k$  and  $\sum_{i=0}^k \delta_{k-i} = r$ . Hence  $\sigma_{mp+t+k-i} = k + \delta_{k-i}$  for all  $i = 0, 1, \dots, k$ , which together with (12) yields

$$T^{mp+t+k}(\lambda) = (k + \delta_k, k-1 + \delta_{k-1}, \dots, 1 + \delta_1, \delta_0).$$

This completes both proofs. ■

## References

- [1] E. Akin and M. Davis, *Bulgarian solitaire*, Amer. Math. Monthly 4 (1985), 237–250.

- [2] J. Brandt, *Cycles of partitions*, Proc. Amer. Math. Soc. **85** (1982), 483–486.
- [3] G. Etienne, *Tableaux de Young et solitaire bulgare*, J. Combin. Theory Ser. A **58** (1991), 181–197.
- [4] M. Gardner, *Mathematical games*, Scientific American **249** (1983), 12–21.
- [5] J.R. Griggs and C.-C. Ho, *The cycling of partitions and compositions under repeated shifts*, Adv. Appl. Math. **21** (1998), 205–227.